Question Paper Title : TI_35

Date of Exam : 26-07-2019 10:00 AM

Reference 1D:(20875)

Answer:

Reference 1D:(20853)

Answer:

Reference 1D:(20882)

Answer:

Out of the following options, identify a simple sentence.

A.As | was driving my car it hit a tree.
B.Suddenly the car was hit by a speeding truck.
C.My car was badly damaged.

D.Despite help calls, the police did not arrive.

C.My car was badly damaged.

Choose the option that has the correct spelling.

A.Professionel

B.Profesional

C.Professional

D.Proffessional

C.Professional
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Answer: B.h g
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Reference 1D:(20868) Choose the correct form of modal auxiliary verb for the given sentence:

Peter come with us tonight, but he isn't very sure yet.



A.shall
B.could
C.may

D.will

Answer: C.may

Reference 1D:(20859) Fill in the blank with the correct noun for the given sentence:

A whole range of physical advances was required for the of human

A.developing ... speaking
B.developmental ... speech
C.development ... language

D.develops ... talking

Answer: C.development ... language

Reference 1D:(20858) Choose the correct form of adjective for the given sentence:

A competitor in a marathon is a runner.

A.short
B.long-distance
C.long

D.high

Answer: B.long-distance
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Reference 1D:(20857) Choose the correct form of adjective for the given sentence:

Mohan has and shows strong feelings. He is enthusiastic about showing his
feelings. He is

A.eager
B.passionate
C.short tempered

D.temperamental

Answer: B.passionate
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Reference 1D:(20871) Choose the most suitable conjunction for the given sentence:

you are going to be rude to me, | will not talk to you.

A.But



B.In spite of
C.If

D.Though

Answer: C.If
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Answer: A.691020
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Answer: B.3WI ?IT%'G
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Answer: B.UNLE

Reference 1D:(20876) Choose the correct form of tense for the given sentence:

It for two hours and the ground is too wet to play on, so the match
postponed.

A.will rain, been
B. has been raining, was
C.has rained, has been

D.rained, been

Answer: C.has rained, has been
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Answer: D.QIE:II

Reference 1D:(20873) Choose the most appropriate usage to fill in the blank in the given sentence:

The survey showed that the participants found the whole experience

A.enriched
B.reaching

C.enrichment



D.enriching

Answer: D.enriching
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Answer: B.gHIY [HITT YR

Reference 1D:(20855) Choose the sentence with the correct punctuation to convey the right
meaning.

A.The Captain ordered the troops, “March forward”.
B.The Captain ordered the troops, March forward.
C.“March forward, ordered the Captain”.

D.“The Captain ordered the troops, march forward”.

Answer: A.The Captain ordered the troops, “March forward”.

Reference 1D:(20867) Which of the following options best combines the two given sentences?

| was disappointed. | was not able to find a suitable life partner.

A. | was disappointed and | was not able to find a suitable life partner.
B.l was disappointed as | was not able to find a suitable life partner.
C.l was disappointed yet | was not able to find a suitable life partner.

D.As | was disappointed, | was not able to find a suitable life partner.

Answer: B.l was disappointed as | was not able to find a suitable life partner.
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Choose the most suitable determiner for the given sentence:

Did it cost you to buy such a nice car?

A.many
B.much
C.a lot of

D.any

B.much

Choose the appropriate conjunction for the given sentence:

He is not ready to play his friend plays with him.

A.unless
B. and
C.but

D.yet

A.unless

Choose the appropriate articles for the given sentence:

With __ tremendous roar from its rocket engine, ___ satellite is sent up to
____sky.

A.No article required ... the ... a

B.the ... the ... the

C.a ... the ...the

D.the ... a ... the

C.a ... the ...the
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Choose the option that best expresses the meaning of the highlighted
idiom/phrase:

A: The insurance advisor met the so-called prospect for the seventh time.
B: | heard that. Tell him not to flog a dead horse.

A.to waste one's efforts
B.to waste one's money
C.to kill someone

D.to waste one's time

A.to waste one's efforts
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Choose the appropriate collective noun to complete the sentence:

There was seen at the beaching area.

A.a class of eels
B.a deck of fish
C.a shoal of sharks

D.a crowd of bees
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C.a shoal of sharks
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Choose the option with the appropriate suffix to complete the given
sentence:

It was a nerve drive up the mountain.

A.-breaking
B.-rattling
C.-chattering

D.-racking

D.-racking
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Choose the correct form of verb that is in agreement with the subject:

met more than ten years ago at a mutual friend’s birthday party.

A.Her and |
B.Her and me
C.She and me

D.She and |

D.She and |
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B.84
C.56
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Choose the option with the appropriate suffix to complete the given
sentence:

His advo- of violence won him few supporters.

A.-cate
B.-cacy
C.-ice

D.-cal

B.-cacy

Choose the appropriate prepositional phrase for the given sentence:

| am standing here my colleagues and friends.

A.on behalf of
B.at any rate
C.under the name of

D.by reason of

A.on behalf of
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Answer: D.3¥H

Reference 1D:(20856) Choose the sentence with the correct punctuation to convey the right
meaning.

A.After stealing Tims car, the thief lost his way and ended up in the chief
constable's garage.

B.After stealing Tim's car the thief lost his way and ended up in the chief
constable's garage.

C.After stealing Tim's car, the thief lost his way and ended up in the chief
constable's garage.

D.After stealing Tim's car, the thief lost his' way and ended up in the chief
constable's garage.



Answer: C.After stealing Tim's car, the thief lost his way and ended up in the chief
constable's garage.

Reference 1D:(20865) Choose the correct form of verb for the given sentence:

The climate generally temperate and winters to be chilly.

A.is ...tend
B.are ...are
C.was ... tends

D.is being ... is tending

Answer: A.is ...tend

Reference 1D:(20864) Choose the appropriate articles for the given sentence:

Once __ preserve of ___ elite,  mobile phone is now ubiquitous, as
there are millions of subscribers.

A.No article required ... the ... a

B.the ... an ... the

C.the ... the ...the

D.No article required ... an ... a

Answer: C.the ... the ...the
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Choose the appropriate prepositions for the given sentence:

The architect is working a plan a new train station.

A.with ... in



B.on ... for
C.for...on

D.against ... with

Answer: B.on ... for

Reference ID:(20879)  faoiedr Wsgirerdd favgrd 2rsq i,

B.3Y®
C.IRI%

D.ga3[aadl

Answer: B.3Yxd

Reference ID:(20896) U do-Td 3{Adbad .

q IR ARG SRaE .

A. TR TRia IRRG SRarE,

B. 1 TRI&f=aT IR SRaRIaTd.
C. WRI&=T IR 3R,

D.q W&l dRRg SRarEa.

Answer: B. 1 TRI&f=aT RN SRR,
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Answer: D.ﬂﬁﬂv—lfg
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Answer: A.ﬂ%’lﬂg
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Answer: A.Q’I&"??h"'ﬁ Y
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A.275
B.387
C.464

D.553

Answer: D.553
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A DIIBTAl
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Answer: B.Adt fecir

Reference ID:(21185) T Smft dvg et fRaga s qui ax:
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A.28
B.35
C.42

D.51

Answer: B.35
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Answer: A.%F?l'sf
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B.7 faag
C.6 faayg

D.8 faay

Answer: c.6feag

Reference 1D:(20889) feaiean ?ﬂﬂ?[ g =g fFaeT.
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D.freqA

Answer: B.fieTar
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Answer: DRUETII
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STHT et 2 TR et AT THUT e B,

A.6650

B.5280

C.5740



D.5840

Answer: B.5280

Reference ID:(21179) Wl fadiedT IR U SI0TaT Ul @Telt feciedn TRl S uul Jad
TR1?
Fourth Floor, Shah Complex, Nowhatta Chowk,
Opposite Main Gate Jamia Masjid,
Srinagar, Jammu and Kashmir 190002

(i) Fourth Floor, Shah Complex, Nowhatta Chowk,
Opposite Main Gate Jamia Masjid,
Srinagar, Jammu and Kashmir 190002

(ii) Fourlth Floor, Shah Complex, Nowhatta Chowk,
Opposjte Main Gate Jamia Masijd,

Srinagar, Jammu and Kashmir 190002

(iil)Fourth Floor, Shah Complex, Nowhatta Chowk,
Opposite Main Gate Jamia Masjid,

Srinagar, Jammu and Kashmir 190002

(iv)Fourth Floor, Shah Complex, Nowhatta Chowk,

Opposite Main Gate Jamia Masjid,
Srinagar, Jammu and Kashmir 190002

B.ii
C.iii

D.iv

Answer: B.ii
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C.33a%

D.38 9%

Answer: A.14 a"@f
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D . Tordeeie fhanfaRivur are, A dTe, RideRie fhanfagyur g

Answer: B.ATH a1, fa=Ivur a1, foparfa=iyur arey
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Answer: B.‘v'l'e!av"rif HI0]
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A. 38 TR Ue 30T,

B. 3RS SOTRIG Ue SHToTedT.
C. 38 SSIRIGT Ue STOTe.
D.3MTg+ STORIGA Ue SHTUTE.

Answer: A.Grl'lée[ EISINGG] Ug 3TUTa,

Reference ID:(20878)  faaied regirerqd arg THTT Trsg fAast.

ATY

B.®HUGa
c.USur

D. 3T

Answer: D.3HTHYUI

Reference ID:(21168)  TRET, U&h QBT TAUGR, Heod: HRATA WIaiadd! bIordl Isaidedta
3187
A TORTd

B.HERTY
C. Ay

BRINESIE]

Answer: AJJSRId
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BT JU Riwd ga?
A B STREY (e
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C.dTE Pedld oad (Th)
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Answer: C.a'*ltjeﬁ @Cd\fﬂ CNE (ETW)



Reference 1D:(20894)

Answer:

Reference 1D:(21191)
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Reference 1D:(21198)
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B.18 3T
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Reference 1D:(20880)

Answer:

Reference 1D:(20893)

Answer:

Reference 1D:(20890)

Answer:

Reference 1D:(21169)
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D. Y
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Answer:

Reference 1D:(21170)

Answer:

Reference 1D:(21177)

Answer:

Reference 1D:(21187)

Answer:

c.gu
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Reference ID:(20898)  Jeld dladTidl [aRTHIg HIesl.
e - e argl AReHel 8isd, Mol dled L. AT

oRgTe! YURd.

A TgBTHRT gl

B.[dwcufrs

C.gaufrg

D.duRIe

Answer: D.?ﬁtlﬁf_s'

Reference 1D:(20854) Choose the option that has the correct spelling for the missing word in the
given sentence:
| dig the pit with the help of a

A.shuvel

B.shavel

C.shevel

D.shovel

Answer: D.shovel

Reference ID:(21192) U fdehdl axqd! fhdd Wdl forda=an 20% Sid fergifdrd dral. dl drgsbran
T 20% HTIOT 25% = Y Gall. TR 1T 1400 FUTET dleT gial. I
g1 fard! faame) (Fuaige) gt fash! Hrdl?

A.3600
B.4200
C.3850

D.4125

Answer: A.3600



Reference ID:(21199)  URI&HL YAD! 100 UM TiOrd, faT S1foT Aranfore IRar 3 fawd ofe.
TTOrRTeTT TTOT SATTOT faTHed 60% 3101 80% T[0T fHesTel. Tell WU 70% T[0T
fHesTel. ATaTSI AR e AT Ul Tddhar fad! sie:

A.50
B.60
C.70

D.80

Answer: C.70



